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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o P I F T B G 5 59799 § GRa g 8 oy 77 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.
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(2) 5631/(Set : A)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g 4 arar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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(i) @ g97 St &
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(3) 5631/(Set : A)
(iii) @7 G’ % & Fo7 § ak® [Awey {9 T 8, F7H @ % & F97 B gT 81

(iv) 179 T % 99T &l 791 Fe-rkrer % GrT Haeq el 11
(v) %997 9T 791 TEGiernl # B AT [E)

(vi) PERICT & T B SI7AT TE &l

General Instructions :

(i) This question paper consists of 12 questions which are divided into three

Sections : A, Band C :

Section ‘A': This Section consists of six questions from 1 to 6. Each question

carries 2 marks.

Section B': This Section consists of four questions from 7 to 10. Each question

carries 4 marks.

Section 'C': This Section consists of two questions 11 & 12. Each question

carries 6 marks.
(ii) All questions are compulsory.

(iit) Section 'C' contains both questions where internal choice have been provided.

Choose one of them.

(iv) You must attach the given graph-paper along with your answer-book.
(v) You must write your Answer-book Serial No. on the graph-paper.

(vi) Use of Calculator is not permitted.

5631/(Set : A)/ | P.T.O.



(4) 5631/(Set : A)

gug — A
SECTION - A
1 sin”! dy i
. Zlﬁy:x x,&"?f— Sd l 2
dx
1
If y=x%" x, then find ay
dx
d? d
2. FR y=2e*+3e>, drafy LY _6Y 18y=-0) 2
y =2e*" +3e*, T quiEy T2 "6 T8Y

2
If y = 2e™* + 32", then show that d—g—6ﬂ+8y =0.
dx dx

3. WW%:ytanxaﬁwaﬁmqﬁﬁo,wu 2

Solve the differential equation :

dy .
—~ =ytanx if x=0,y= 1.
ax Y v

4. w3 fed § 100 59 B B 10 99 Jeqel 81 AR B § 5 5@ #1 qghes ey
(Sample) f@r 5@, @ IEH 1 I & JYel BN B A¥HAT HG ST 2

A box contains 100 bulbs out of which 10 are defective. In a random sample of

5 bulbs taken from the box, find the probability of having 1 defective bulb.

5631/(Set : A)/ |



(5) 5631/(Set : A)
5. GRY a b W XY (projection) ST I, EE dzi—2j’+31€ \ﬁ'{E:Sf—Qj'HE. 2

Find the projection of vector a on b, where d =1 —2j'+ 3k and b =3 —2}' +k.

6. A& [0 A9 & ol @00 2x+y-2z=7 X 3x-Ay+2z=4 THIW & T &l 2

For what value of A the planes 2x+y-2z=7 and 3x-Ay+2z=4 are

perpendicular to each other.

gug - §

SECTION-B

7. 59 ofd@ ® weH f(x)=2x° —3x2 -36x+7 FXAT q¥AM (Strictly increasing) ¥,
CERC RN IR L 4

Find the interval in which the function f (x):2x3 —3x% -36x+7 is strictly

increasing.

8. g x?+y? =a? ¥ WAGA G BT 4

Find the area enclosed by the circle x2 + y2 =a?.

9. WA 7F=({+2j+k)+AMi-j+k) AR F=20—j—k+pQi+j+2k) & &= B FAH
3l #d Hife 4

Find the shortest distance between the lines 7 =(i +2j+k)+A(i —j + k) and

F=20—j-k+uQ2i+j+2k).

5631/(Set : A)/ | P.T.O.



(6) 5631/(Set : A)

10. o 9 § 2 o &R 5 T%e A & fdf® g A § 4 o AR 3 The 19 81 Th A
A AR I 4 T & Ml ol 81 AR 98 e a8, 9 36 e 99 & &N
il AT 1T HIT 4

Bag Ist contains 2 red and 5 white balls. Bag IInd contains 4 red and 3 white
balls. A bag is chosen at random and a ball is drawn from it. If the ball drawn

is red, find the probability that this ball is drawn from Ist bag.

s - 9
SECTION-C

2 3

11. wfia #ifm # sege A:L )

}H’FﬁEF{UTAQ—éLAJrI:O SRl I, 2 x 2 e & Th

TEE S © A O, 2 x 2 FIT B Th I AT I 300 dodd & A~! 51 Hivo)
6

2 3
Show that the matrix A = [1 2} satisfies the equation A2 —4A+1=0 where I

is , 2 x 2 identity matrix and O is 2 x 2 zero matrix. Using this equation, find

AL
AT

OR

5631/(Set : A)/ |



(7) 5631/(Set : A)
e FieRel &l e O | & &I ¢ 6

X-y+z=4,
2x+y-3z=0;
x+y+z=2
Solve the following equations by Matrix method :
xX-y+z=4,;
2x+y-3z=0;

x+y+z=2

12. FHRIT STEUE & SFTREG Z = 3x +2y BN ATTHAHIB HioTT 6
2x+4y <20,
3x+y<15,

x,y=20

Maximize : Z = 3x + 2y subject to the constraints :
2x+4y <20,
3x+y <15,

x,y=0

5631/(Set : A)/ | P.T.O.



(8) 5631/(Set : A)
ST
OR

FIE : 2x+y>8, x+2y 210, x>0,y>20 % I Z=5x+7y & FATHHT
FITT| 6

Minimize : Z = Sx + 7y under the constraints :

2x+y =28, x+2y=>10,x=20,y=>0.

5631/(Set : A)/ |



CLASS : 12th (Sr. Secondary) Code No. 5631
Series : SS-April/2021

Roll No. SET : A
N

MATHEMATICS
AT - 11
PART - II

(g %)
(Objective Questions)
ACADEMIC/OPEN
[ &= wd sfush A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT I T [ I % 37 FIT-09 § JRT § 16 T J97 40 &7
Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o TXETER STl T To FeT-UH YT a9 ford)
Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 3
General Instructions :
(i) & FoT S &
All questions are compulsory.
(i) H97 FE 1 @ 40 TF JEGTO J97 &1 TA9% F97 1 5% T &1

Questions from 1 to 40 are objective type questions. Each question is of 1
mark.

5631/(Set : A)/ I P.T.O.



(2) 5631/(Set : A)

1. U% 99 JF G99 FHoa ¢ d d6 dad X dad 7 Ol B GG H 8 1
(A) &g (B) wHET
(C) Fehid (D) | A
A relation is said to be equivalence relation if and only if it satisfies the
property :
(A) Reflexive (B) Symmetric
(C) Transitive (D) All of the three

2. IR KA f: R >[4, o), AN =x*+ 4 TN URAMNT 5, T ITH ok F £ 1(x) & : 1

1

x2 +4

(C) x*-4 (D) 39 & %13 T

(A) Vx-4 (B)

If f: R >[4, «) is given by f{¥) =x2+ 4, then f_l(x) is given by :

1

x%+4

(A) VJx-4 (B)

(©) x% -4 (D) None of these

3. IR »TH N W IR faemerd @feam & STl a» b =a 8 b M LCM, @ FiRaT « © 1
(A) e BT
(B) a @e=d
(C) wHfaT &R aewd

(D) ¥ | BE &

5631/(Set : A)/ 1l



(3) 5631/(Set : A)
If » is a binary operation defined on N, is given by a* b = LCM of a and b, then

* 1S :

(A) Commutative only

(B) Associative only

(C) Commutative & Associative

(D) None of these

4. tan'V3 —cos_l(— %) cik: Gl 1
T T
(A) 3 (B) 3
© = D) =

@ -3 ®
© = D) =
5. tan’! x2_1,|x| >1 IR B 1
(A) sec”lx (B) cosec lx
(C) sin~!x (D) T8 9§ Fig 7l

5631/(Set : A)/ I P.T.O.



(4) 5631/(Set : A)

-1

tan x2_1,|x|>1isequalto:
(A) sec”lx (B) cosec x
(C) sin~!x (D) None of these
6. I A AR BA mxn Ffe & L §, A AB T4 g, IR 1
(A) m<n B) m>n
(C) m=n (D) ™ ¥ &g T

If Aand B are two matrices of order m x n. Product ABis possible, if :

(A) m<n B) m>n
(C) m=n (D) None of these

7. A% A IR B WM Hfe F Fepuoid (Invertible) e ¥, O Fiiiad § -4 @
27 1

A) (A+B)l=a"l+B"!
B) (A-By'l=a"l-B!
(C) (AByl=a"1B"!

(D) (AB)'=pB"1a"!

5631/(Set : A)/ 1l



(5) 5631/(Set : A)

If A and B are two invertible matrices of same order, then which of the

following is always true ?

A) (A+Byl=al4+B7! B) (A-Byl=al-B7!
(€) (AByl=a"1B"! (D) (AB"'=pB"1a7!
8. x @ °H PR 4:‘2 4‘%,?4‘5’%: 1
6 x |5 1
A) 1 (B) ++/3
(C) wa &l (D) ™ q HE -
o l2x 4 ‘2 4
The value of x for which = is :
x 5 1
(A) 1 B) £+3
(C) Not possible (D) None of these
9-qﬁWf(x):kx+l ’ xss,x=3¢{WW%,EﬁkaﬂrlFf%: 1
3x-5 , x>3
A) 3 (B) 2
() 1 (D) 9 | *§ Tl

kx+1 , x<3

The function f(x)= 3 is continuous at x = 3, then value of k is :

x-5 , x>3
(A) 3 (B) 2

) 1 (D) None of these

5631/(Set : A)/ I P.T.O.



(6) 5631/(Set : A)

2
10. 7R y=el3*+) ,Q%WW%: 1

(A) e(3x+5)2
2
B) 6e3¥*3)7(3x +5)

©) B3’ 53x45)

(D) & § PIg T

If y= e(3x+5)2 , then Y .
dx

(A) e(3x+5)2

(B) 6e(3x+5)2(3x+5)

(C) e(3x+5)22(3x +5)

(D) None of these

11. Wa@@ y? = 4ax B &5 (at?, 2at) W F&OWA S ¢ 1
1
(A) ¢ B -
) -t (D) _1

—
Z
o~
—
oy
-
~ | =

5631/(Set : A)/ 1l



(7) 5631/(Set : A)

12. j2xsin(x2)dx H AN T 1
(A) sin x%+c
(B) x2 cos(xz) +c

c - cos(xz) +c

(D) TH | HE &

.[Qx sin(x2)dx is equal to :

(A) sin x%+c

(B) x2 cos(xz) +c
) - cos(xz) +c

(D) None of these

1

dx ‘
13. £1+x2ab-rrn:r%. 1
s s
® 7 ® -5
(C) g (D) = § g T

5631/(Set : A)/ I P.T.O.



(8) 5631/(Set : A)

I dx is :
0 1+ x?
T T
(A) 1 (B) -2
(@) g (D) None of these
14. 3% x* =y, x3 AR x=0, x= 1% 9 & & F &% © : 1
A) 1 (B) 2
1 2
(C) 3 (D) 3

2

Area bounded by the curve x“ =y, x-axis and from x=0, x=11is:

A) 1 (B) 2
1 2
Cc) — D =
© 3 D) 3
15. y=mxTel m T% QB R 8, IGH b THIH 2 1

(A) xdy-ydx=0
B) xdy+ydx=0
(C) xdx-ydy=0

D) xdx+ydy=0

5631/(Set : A)/ 1l



16.

(9) 5631/(Set : A)

The differential equation of the family of curves y = mx, mis arbitrary, is :
(A) xdy-ydx=0
B) xdy+ydx=0
(C) xdx-ydy=0

D) xdx+ydy=0

3t E iR F @ gea B, @ = § § - w78 0 1
(A) P(E/F) = P(E)

(B) P(E/F)P(F)=P(EnF

(C) P(E/F) =P(F)

(D) P(EnF) =P(E).P(H

If E and F are independent events, then which of the following is not true ?

(A) P(E/F) = P(E)

(B) P(E/F)P(F)=P(EnF

(C) P(E/F) =P(F)

(D) P(EnF) =P(E).P(H

5631/(Set : A)/ I P.T.O.



(10) 5631/(Set : A)

17. A% 9 B T o =20 +3j+2k RN b=i-Aj+2k & T=ad ¢, 9 © : 1
A) 3 (B) 2
() -3 (D) 9 | *E Tl

18.

19.

The value of A for which a = 27 + 3j+2k is perpendicular to b=i- A +2k, is :
(A) 3 (B) 2

(©) -3 (D) None of these

AT TH W -3 T 60°, y-3T& ¥ 30° HIOT SR &, A I8 23 F N BT FACH, a8 & ¢
(A) 45° (B) 60°

(C) 90° (D) T & & Tl

If a line makes an angle 60° with x-axis, 30° with y-axis, then the angle made

by the line with z-axis is :

(A) 45° (B) 60°
(C) 90° (D) None of these
qﬁx=4t,y:i,(-|€[ ﬂ:: 1
t dx
1 1
(A) : (B) 2
© 3 (D) T & B T

5631/(Set : A)/ 1l



(11) 5631/(Set : A)

If x=4t, y=—, then @:
dx
1 1
A) = B) —
@) B 2
(@) —LQ (D) None of these
t
20. J-tanzxdxaﬁfrﬂ:f%Z 1
(A) cotx—-x+c (B) tanx-x+c
(C) secx—x+c (D) T8 ¥ Hig 7ol
J-tanz xdx is:
(A) cotx-x+c (B) tanx-x+c
(C) secx—-x+c (D) None of these
2.\ 2
d7y dy
21. y{—] +(—j =0 TIHAT THHT B G © 1

dx? dx
(A) 3 (B) 2
C) 1 (D) T & HiE T

2 2
The degree of differential equation : y a7y + (ﬂj =0 is:
dx? dx

(A) 3 (B) 2
) 1 (D) None of these

5631/(Set : A)/ I P.T.O.



(12) 5631/(Set : A)
22. €Y S §gA {1, 2, 3} W IRHAMA & 81k R={(1, 2), (2, 1)} 8, T & .oevvvvnee | 1
(e, =, )

The relation on the set {1, 2, 3} given by R={(1, 2), (2, 1)} is .....cuen..e. .

(Reflexive, Symmetric, Transitive)
23. tan '(-1) F T AT & .ooeeennnnnn. | 1

Principal value of tan_l(—l) ISR .

24, 7R sin"lx=y, @: 1
T T
A) O<y<m B) -~ <y<-=>
(A) y (B) 5 SUS3
T T
C) O<y<mnm D —-Z<y<Z
(€) y (D) SR

If sin”! x = y, then :

T T
A) OLy<m B —— <y< —
(A) y (B) 5 SUS3

T T
C) O<y=<m D -Z <y< =
(€) y (D) 5 <U<5

25. ﬁA:[Cf’S“ _Sm“},a’r AA = oo, | 1
Sin o COS O

(7 oTegE, ae(Identity), faw wwfd o)

coso —sino
If Az[

) , then AA"= ................ .
sinot  coso

(Zero matrix, Identity, Skew Symmetric matrix)

5631/(Set : A)/ 1l



(13) 5631/(Set : A)

26. IR |A| Th 3 x 3 IYE H RO & X |A| =4, T |24 FATE covvennnnn | 1
(8, 12, 16, 32)

If |A|] =4 and |A]| is a determinant of matrix of order 3 x 3, then the value of

|2A | is .ooenie. . (8, 12, 16, 32)
sin2x 40
27. IR &N flx)= x 7 X7, x=OWTITE, W EBATE .oevvennn | 1
k , x=0
sin2x 0
If fi(x)= , X7 , x =0 is in radians, then for continuity of f{x) at x = 0,
k , x=0

then value of kis .............. .
28. jex(sinx+cosx)dx TER ..o | 1

j e*(sin x + cos x)dx is equal to ........... .

29. IR} uH I Had B 8 IR SBET AT &, A o1k 6 SX M Bl TRBA & ......... | 1

If a fair coin is tossed 8 times, the probability of getting exactly 6 heads

IS ceviiiiiiiiins .

30. w7 WfifT % &= N ¥ R={(a, b): a= b-2, b > 6 8 ¥&d §ag R B, Freired

4| g8 I g ’
A (2,4€eR B) (3,8 € R
(C) (6,8)e R (D) (8,7) € R

5631/(Set : A)/ I P.T.O.



31.

32.

33.

34.

35.

(14) 5631/(Set : A)
Let R be the relation in the set N given by R= {(a, b) : a= b - 2, b > 6}. Choose

the correct answer :

(A) (2,4) e R B) (3,8 €R
(C) (6,8 R D) (8,7 eR
-1 1
sin” m — I ATE venenenn [ 1
RN
The principal value of sin”! 1 is
Jg 8 e

|Adj A| @1 A9 &7 8 A |A|=5 3R A TF 3 x 3 &ifC & e & 7 1

What is the value of |Adj A| if |A|= 5 where A is matrix of order 3 x 3 ?
tri%x2+xy+y2=1oo,a‘r;lx—y§|ﬁqﬁﬁﬂz| 1

If x? +xy+y2 =100, then find il—‘li

AU [0, ] § sin x + cos x H ITAAH T ST DI 1

Find maximum value of sin x + cos x in the interval [0, w].

CIGEGIGE Eﬁliﬁq : 1

J- sin? x

1+cosx

5631/(Set : A)/ 1l



(15) 5631/(Set : A)

Evaluate :
.2
J' Sin- x dx
l1+cosx
36. HM T T : ]
1
dx
'[x2—9
Evaluate :
1
dx
'[x2—9
37. T x* +4y° =4 & Th GGAT B B A DO 1

Find the area of the quadrant of an ellipse x2 + 4y2 =4.

38. q&AaﬁrBaﬁq@mﬁaﬁw%aﬁwé%wﬁAaﬂTBwﬁawﬁ%,ﬁP(AuB)
S i) 1

Probability of events A and B are % and % respectively. If A and B are

independent events, then find P(AUB).

~ ~ ~ . ~ ~ ~ - —
39. IR} G=2{+, +3k M b=3i+5]-2k,q (axb ) 3T HMTY 1

- - ~ - - -~ -~ - —
If G=2{+j+3k and b=3i+5] -2k, then find (ax b ).

5631/(Set : A)/ I P.T.O.



(16) 5631/(Set : A)
40. 7R |a =3, b |=Y2 IR XD e GRY L, A& @ K b B &= @ B

3
EIREEIE LY 1
- -
If |al= V3, | b |=g and a X b is a unit vector, then find angle between
a and b.

5631/(Set : A)/ 1l



CLASS : 12th (Sr. Secondary) Code No. 5631
Series : SS-April/2021
Roll No. SET : B

T GRAPH
MATHEMATICS
AT -1
PART -1
(st Te)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 2L q92 ] [ T% : 80 (WM-1 : 40, WF-1I : 40)
Time allowed : 2% hours | [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

gE-U A WA | faeia B : A (STetes) O AR (FRgRTe)| e @ aN An @ g
% I B AT IAC-YRaw R 31 AE-U F CAF-I IO S BN W ed SaX-gRas
CS 1R e 0 0 A £ R e O s s A L R R | e B
A 0% goT @ qhemt B qE-11 S 9eA-0 Rar s

-1 & 997-0F & 0 12 97 @ 9FHI & 999-T § F 40 U7 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o P I F T B G 5 59799 § GRa g 8 oy 77 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.
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(2) 5631/(Set : B)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g 4 arar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

() STTTH T2 7978 T r diTasi o govgdare me:
G 9 3G H 1T 6 TH G & FT 81 JA% J97 2 G # 81
% q: G HT §10 T F7 G 597 81 J9% Fo7 4 SH # 8
g% 9 39 &% §11 §7 12 F7 § 597 &1 9% 597 6 o FT &

(i) @ g97 St &
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(3) 5631/(Set : B)
(iii) @7 G’ % & Fo7 § ak® [Awey {9 T 8, F7H @ % & F97 B gT 81

(iv) 179 T % 99T &l 791 Fe-rkrer % GrT Haeq el 11
(v) %997 9T 791 TEGiernl # B AT [E)

(vi) PERICT & T B SI7AT TE &l

General Instructions :

(i) This question paper consists of 12 questions which are divided into three

Sections : A, Band C :

Section ‘A': This Section consists of six questions from 1 to 6. Each question

carries 2 marks.

Section B': This Section consists of four questions from 7 to 10. Each question

carries 4 marks.

Section 'C': This Section consists of two questions 11 & 12. Each question

carries 6 marks.
(ii) All questions are compulsory.

(iit) Section 'C' contains both questions where internal choice have been provided.

Choose one of them.

(iv) You must attach the given graph-paper along with your answer-book.
(v) You must write your Answer-book Serial No. on the graph-paper.

(vi) Use of Calculator is not permitted.

5631/(Set : B)/ | P.T.O.
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gug —

SECTION - A

1. % fod & 100 5@ B R 10 5@ Jeg 81 IR B § 5 T@ &1 q5es <
(Sample) f@r 5@, @ SEH 1 I & JYel BN B A¥HAT AT ST 2

A box contains 100 bulbs out of which 10 are defective. In a random sample of

S bulbs taken from the box, find the probability of having 1 defective bulb.
2. TRA @ B b W WY (projection) FT FINT, &l d=i-2j+3k AR b=3i-2j+k. 2

Find the projection of vector a on b, where d =1 ~2j+3k and b=3i —2j+k.

3. A& 0 A9 & ol 909 2x+y-22=7 X 3x-Ay+2z=4 THIW & T &l 2

For what value of A the planes 2x+y-2z=7 and 3x-Ay+2z=4 are

perpendicular to each other.

. 1
4. IR y=xS" x, @ % A HifTT 2

. —1
If y=x%" x, then find ay
dx

2
5. R y=2e* +3¢2%, A auter 2Y _6W gy -0 2
y =2e* +3e?*, ﬁ@dxz L 8y
2
If y = 2e™* +3e?*, then show that d_gg_ ﬂ+8y =0.
dx?  dx

5631/(Set : B)/ |
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6. WWW%=ytanxﬁ%ﬁWqﬁx=o,y=ll 2
Solve the differential equation : % =ytanx if x=0, y=1.

gUg - §

SECTION-B

7. AT H 2 A AR 5 §he e ¢ T g A9 H 4 AW SR 3 HHe e 2l Th A
AgeBT] FAHT SEH § & I8 el Sl 81 A 98 T8 A 5, af I6d Jed Od 9 8
ol AT ST HITT| 4

Bag Ist contains 2 red and 5 white balls. Bag IInd contains 4 red and 3 white
balls. A bag is chosen at random and a ball is drawn from it. If the ball drawn

is red, find the probability that this ball is drawn from Ist bag.

8. 59 ofdua & weM f(x)=2x° —3x2 -36x+7 Ya¥ 49 (Strictly increasing) ¥,
CERC RN IR L 4

Find the interval in which the function f (x)=2x3 —3x% -36x+7 is strictly

increasing.

9. gu x?+y? =a? T VAGA G BT 4

2 2

Find the area enclosed by the circle x* + y2 =a”.

5631/(Set : B)/ | P.T.0O.
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10. @S F=({ +2j+K)+Mi—j+k) I 7 =20 —j—k+pQi+j+2k) & a9 H T4

i s i 4

Find the shortest distance between the lines 7 =(i +2j+k)+A(l — j+ k) and

F=20—j—k+pQi+j+2k).

gue - 9
SECTION-C

11. Fr=fifad g & oegE Y 4 & Hif
xX-y+z=4;
2x+y-3z=0;
x+y+z=2
Solve the following equations by Matrix method :
XxX-y+z=4,;
2x+y-3z=0;

X+y+z=2

5631/(Set : B)/ |
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YT

OR

w&haﬁﬁqaﬁaw{é,q:ﬁ ﬂ FHHET A2 —4A+1=0 @I 1, 2 x 2 & B/ &

TETH T & AR O, 2 x 2 HC F T I AE &l 306 Tod 4 A~ 7 i)

6

2 3
Show that the matrix A = [1 2} satisfies the equation A2 -4A+1=0 where I

is , 2 x 2 identity matrix and O is 2 X 2 zero matrix. Using this equation, find

AL

12. UG : 2x+y 28, x+2y>10, x>0, y>0 & WA Z =5x+7y & FAHBT
it 6

Minimize : Z =5x+ 7y under the constraints :

2x+y=28,x+2y=210,x20,y=0.

YqT

OR

5631/(Set : B)/ | P.T.O.
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frrifiiad eTERIgl & SR Z = 3x + 2y SATIHAHIEHI BT 6

2x+4y <20,
3x+y <15,
x,y=20
Maximize : Z = 3x + 2y subject to the constraints :
2x+4y <20,
3x+y <15,

x,y=0

5631/(Set : B)/ |



CLASS : 12th (Sr. Secondary) Code No. 5631
Series : SS-April/2021

Roll No. SET : B
N

MATHEMATICS
AT - 11
PART - II

(g %)
(Objective Questions)
ACADEMIC/OPEN
[ &= wd sfush A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT I T [ I % 37 FIT-09 § JRT § 16 T J97 40 &7
Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o TXETER STl T To FeT-UH YT a9 ford)
Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 3
General Instructions :
(i) @ Jo7 Siard &
All questions are compulsory.
(i) F97 FHF 1 7 40 TF TEGTS J97 &1 9% F97 1 5% T &1

Questions from 1 to 40 are objective type questions. Each question is of 1
mark.
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5631/(Set :

1. %9 R = {(1,2), (2, 1)} S 9= A = {1, 2, 3} W IRAMNT 8, T& B :

(A)

(C)

e (B) &HHd

Hehreh (D) 9 | FE Tl

The relation R = {(1, 2), (2, 1)} defined on A= {1, 2, 3} W IR9IAT &, & & :

(A)

(€)

2. IR’ f: R—> R, fi) = 3x & uR+iya 8, f® ¢

(A)

(B)

(€)

(D)

Reflexive (B)

Transitive (D)

ThH AR ST
Tl AR SRS
Thb T STEBTEH Teh

q UDdl 7 ABEH

If f: R— Rdefined by f{x) = 3x, then fis:

(A)

(B)

(C)

(D)

5631/(Set :

one-one onto

many-one onto

one-one not onto

neither one-one nor onto

B)/ I

Symmetric

None of these

B)



T

(A) 2
3n

(C) e

T

(A) 2
37

(C) e

4. tan_1(1)+cos_1(— %) TER ©

T
A) ——
(A) 12
lin

() 12

tan_1(1)+ cos_l(— %) is equal to :

T
(A) 12

11ln
(€) )

5631/(Set : B)/ I

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

5631/(Set : B)

1

None of these

T
12

51
12

e
12

5n
12

P.T.0O.
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5. fEomeTd T « S N W GRAMNT 8 3R a+b=a?+b? W HA 8, B © : 1
(A) we=d fheg AT TE
(B) AT W wE=d T
(C) 7 HAfHT AR 7 |E

(D) wafafET R g™ aFt

Binary relation * defined on N and given by a* b = a? +b2 is:
(A) Associative but not Commutative

(B) Commutative but not Associative

(C) Neither Commutative nor Associative

(D) Associative and Commutative

6. 3x2 T & AYE H Fo G Pl vfafte daat 0 a1 18, 98 & 1
A) 12 (B) 32
(C) 64 (D) 128

The number of matrices of order 3 X 2 can be formed using the entries on O or

1lis:
(A) 12 (B) 32
(C) 64 (D) 128

5631/(Set : B)/ Il
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7. IR A AR BEHAA HfE F F MgE T, @ F T | PA-A1 o9 TAHT AgE & P 1

(A) AB (B) A+B
(C) A+A (D) | amil

If A and B are two square matrices of same order, then which of the following

is necessarily a symmetric matrix ?
(A) AB B) A+B
(C) A+A (D) All of these

8. IR gt (k, 0), (4, 0) &R (0, 2) B HEAW & T7 el BIYST BN §IGA 8 TG &, A k
P AE B 1

(A) O
(B) +8

(C) 123 —4

(D) FH & &5 Tl

If area of triangle joining (k, 0), (4, 0) and (0, 2) is 8, then the value of kis :

(A) 0
(B) 18
(C) 12 and -4

(D) None of these

5631/(Set : B/ I P.T.O.
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tan x
9. AR B flx)=1 x> *70, x= 0T wp T B &, A k F AT D :
k+1 , x=0
(A) 0 (B) -1
(€ 1 (D) GRS &
tan x 0
If f(x)=9 «x » X¥#Y is continuous at x = 0, then the value of k is :
k+1 , x=0
(A) O (B) -1
) 1 (D) Not defined

10. 7R f(x)=log(cose™), @ f(x) B :

(A) —tan(e®)

(B) —e*tane”™
(C) - cosec(e”)
(D) & q PI§ T

5631/(Set : B)/ Il



(7) 5631/(Set : B)

If f(x)=1log(cose™), then f’(x) is:
(A) —tan(e”)
(B) —e*tane”™

(C) - cosec(e”)

(D) None of these

11. % gq &l B9 r=6 cm W r & GO §9%A R H & @ 1
(A) 10w (B) 12 =
(C) 8= (D) 1l=x

The rate of change of the area of a circle with respect to its radius rat r= 6 cm

is :

(A) 10= (B) 12 =
(C) 8= (D) 11=x
12- [2xsin(x? + 1)dx TR & : 1
A) —x2cos(x?+1)+c
(B) -—cos(x?+1)+c

(C) x2 sin(x2 +1)+c

(D) FH & &8 Tl

5631/(Set : B/ I P.T.O.



13.

j2x sin(x2 +1)dx is equal to :
A - x2 cos(x2 +1)+c
B) - cos(x2 +1)+c

(®) x2 sin(x2 +1)+c

(D) None of these

J.logxdxab'rtﬂ:f%I

(A) l+c
X

2
@) Lgx ..
2

(C) xlogx-x+c

(D) TH | HE &

'[log x dx is equal to :

(A) l+c
X

2
@) Lo8X)1 . .
2

(C) xlogx-x+c

(D) None of these

5631/(Set : B)/ Il
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14. g% x2 =4y, x-3T8 A W x = 3 &N R &7 & &% 8 1
9
(A) 2 (B) 2
9
€ 3 (D) 2

The area of the region bounded by x2 = 4y, x-axis and line x=3 is:

9
A) 2 (B) 1
9
) 3 (D) 2
a2y 4
15. 3Tashe qHIH QXQ(dx—gJ +3Ey+y=o e 1
A) 2 B) 3
(C) O (D) URINS &l

3
2
The order of differential equation QXQ(M} + Sil—‘li +y=0 is:

dx2
A) 2 B) 3
(C) O (D) Not defined

5631/(Set : B/ I P.T.O.
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16. 3f¥ P(A):%, P(B):% 3R P(AmB):%, @ PA/B) & 9N ® : 1
Y ®
© 3 o
If P(A):%, P(B):% and P(AmB):%, then P(A/B) s :
Y ®
© o
17. % A IR B A @RwEd A X B A= ¥ ¢ 1
(A) Fad AT (B) a9 BW
(C) & T D) Frelt @

- = - — )
If A and B are two vectors, then the vector A X B is perpendicular to :
(A) Aonly (B) Bonly

(C) Both (D) None

5631/(Set : B)/ Il
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18. el (-1, 0, 2) iR (1, 3, 8) I M awil Y@ & fag &R D. C. B : 1
2 3 6
a) 2,3,6 B) —.=.-
-2 3 -6 ,
© — == (D) T & g T

The direction cosine of the line joining (-1, 0, 2) and (1, 3, 8) are :

A) 2,3,6 (B) g,g,é
777
(©) _—72,%,_—76 (D) None of these
19. cot—l(—ij B AF & v | 1
i) T
The principal value of cot_l(—L is
75 IS
20. ZIﬁcos_lx:y,?‘ﬁli 1
T T
A) O<y<m B -—<y<—
(A) y B) -5 =ys<7
T T
C) O<y=<mnm D -2 <y< =
(C) y D) -5 <y=<3
If cos_lx:y, then :
T T
A) O0<y<m B) -—<y<-=
(A) y B) -5 =y=3
T T
C) O<y<mnm D —-Z<y< =
(€) y D) -5 <y=<g

5631/(Set : B/ I P.T.O.
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21. IR *uh NI R fEemerd d@iha @ S ax b= a A LA LCM, @ 20 » 16 B :

(A) 20 (B) 40

(C) 80 (D) 16

Let = be the binary operation defined on N given by a « b = LCM of a and b,
then 20 » 16 is :

(A) 20 (B) 40

(C) 80 (D) 16

22. IR’ A TF 3 FIf B a0 AgE ¢ Fordm arRPes |A| = 5, @ IS qewss (Adjoint) Hl

AR B oo | 1

If A is a square matrix of order 3 and det |A| = 5, then the value of det

|[Adj A| = ceevennnen. |
23. (AB) l=...... 1
24. ot y-tan | 2] A Mo |

1-x dx
If y=tan 1( x2j,th n %Yo
1-x
_ : _ dy

25. Ik x=a (@ -sin6), y=a(l + cos 0), Al T T | 1

Ifx=a(®-sin®), y=a(l + cos 0), then %z .............. |

5631/(Set : B)/ Il



26.

27.

28.

29.

30.

(13) 5631/(Set : B)

e —

j 2 AX = o 1
dx

j4x2_9_ ............. 1

qEAAT B TIBAT € ... | 1

A fair die is thrown 6 times. Getting a prime number is a success. The

probability of getting 5 success is ............... .

AT 6 A=1{1,2,3,,B=1{4,5,6,7,T@ A9 & f={1,4), (2, 5), (3, 6)}, Tl : 1
(A) f TS T SNBEH Tel (B) f S5 W SABEH el
(C) f Ul 3R T8RS (D) f SEUH AR ITBEH

Let A={1,2,3}, B={4,5,6, 7)and let f=1{(1, 4), (2, 5), (3, 6)}, then :

(A) f is one-one into (B) f is many-one into
(C) f is one-one onto (D) f is many-one onto
tan"! x @ e HJi g 1
T n T W
|53 @ (-53)
T
(€) [0, x] (D) (0, 5)

5631/(Set : B/ I P.T.O.
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The principal value of tan™! x is :

L T T
w [-33] @ (-53)

T
(C) [0, ] (D) (0, EJ
31 4f ° x:‘S A g xw A
x 1 4 1
(A) 2 (B) 4
(C) +2V2 (D) =18 § Hig &
If 3 x = ‘3 , then the value of xis:
x 1
(A) 2 (B) 4
) = 242 (D) None of these

32. 7R x? +2xy+y? =250, @ % P A FI BT

If x2+2xy+y2 =250, find il—‘lz

33. IR} x=asin®t X y=acost, @ t:g TR TSRET H FAOT § Bt

If x=asin®t and y= acos® t, find the slope of the tangent at ¢t = %

5631/(Set : B)/ Il



34. 9 Fq FINT :

f3cu
1 1+ x2
Evaluate :
ﬁSCM
1 1+ x2
35. A A HIT :
T
2
J.sin3 x dx
_T
2
Evaluate :
T
2
jsins x dx
_T
2

36. % y = cos x, x-37, x=g )7 R A9 H A% w1 HiR

5631/(Set : B)

Find the area bounded by the curve y = cos x, x-axis and the line x = g .

5631/(Set : B)/ I

P.T.0O.
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37. WW%=\/4—y2,(—2<y<2)a€rwsﬁaﬁaﬁ| 1
Find the general solution of the differential equation (jl_.zi =44 - y2 ,
(-2<y<2).

38. IR A R BEAH He &, q Wbl & o1 R 1
Write the condition on probabilities if A and B are independent events.

39. GRY a =6i+3j+7k & ART b =2i +3]+ 6k W AT 7T Hew 1

Find the projection of @ =6+ 3j+ 7k on vector b=2i+ 3j+6k.

40. IR |Z|=\/§,|75|=£ M aXD @ FE RIS, & a oK b & = & H

3
EIREEIE LY 1
- -
If |al= V3, | b |=?2 and a X b is a unit vector, then find angle between
a and b.

5631/(Set : B)/ Il



CLASS : 12th (Sr. Secondary) Code No. 5631
Series : SS-April/2021
Roll No. SET : C

T GRAPH
MATHEMATICS
AT -1
PART -1
(st Te)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 2L q92 ] [ T% : 80 (WM-1 : 40, WF-1I : 40)
Time allowed : 2% hours | [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

gE-U A WA | faeia B : A (STetes) O AR (FRgRTe)| e @ aN An @ g
% I B AT IAC-YRaw R 31 AE-U F CAF-I IO S BN W ed SaX-gRas
CS 1R e 0 0 A £ R e O s s A L R R | e B
A 0% goT @ qhemt B qE-11 S 9eA-0 Rar s

-1 & 997-0F & 0 12 97 @ 9FHI & 999-T § F 40 U7 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o P I F T B G 5 59799 § GRa g 8 oy 77 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.

5631/(Set : C)/ | P.T.O.



(2) 5631/(Set : C)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g 4 arar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

() STTTH T2 7978 T r diTasi o govgdare me:
G 9 3G H 1T 6 TH G & FT 81 JA% J97 2 G # 81
% q: G HT §10 T F7 G 597 81 J9% Fo7 4 SH # 8
g% 9 39 &% §11 §7 12 F7 § 597 &1 9% 597 6 o FT &

(i) @ g97 St &

5631/(Set : C)/ |



(3) 5631/(Set : C)
(iii) @7 G’ % & Fo7 § ak® [Awey {9 T 8, F7H @ % & F97 B gT 81

(iv) 179 T % 99T &l 791 Fe-rkrer % GrT Haeq el 11
(v) %997 9T 791 TEGiernl # B AT [E)

(vi) PERICT & T B SI7AT TE &l

General Instructions :

(i) This question paper consists of 12 questions which are divided into three

Sections : A, Band C :

Section ‘A': This Section consists of six questions from 1 to 6. Each question

carries 2 marks.

Section B': This Section consists of four questions from 7 to 10. Each question

carries 4 marks.

Section 'C': This Section consists of two questions 11 & 12. Each question

carries 6 marks.
(ii) All questions are compulsory.

(iit) Section 'C' contains both questions where internal choice have been provided.

Choose one of them.

(iv) You must attach the given graph-paper along with your answer-book.
(v) You must write your Answer-book Serial No. on the graph-paper.

(vi) Use of Calculator is not permitted.

5631/(Set : C)/ | P.T.O.
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gug —

SECTION - A
1. WW%:ytanxaﬁwaﬁmqﬁFo,wu 2

dy

Solve the differential equation : T ytanx if x=0, y=1.

-1
2. IR y=x5" x, @ % A i) 2

. —1
If y=x%" x, then find ay
dx
d? d
8. IR y=2e*+3e2*, QA amizr LY _6%Y gy -0 )

2
If y = 2e™* +3e?*, then show that d—g—6ﬂ+8y =0.
dx dx

4. A% g AN & [0 TG 2x+y-22z=7 AR 3x—Ay+2z =4 @—@%W%I 2

For what value of A the planes 2x+y-2z=7 and 3x-Ay+2z=4 are

perpendicular to each other.

5. TRY G F b W YT (projection) FT HINW, T& =i -2j+3k AN b=3i-2j+k. 2

Find the projection of vector @ on b, where a =1 —2j+3k and b=3i -2j+k.

5631/(Set : C)/ |
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6. w5 fod § 100 5 B FH 10 @ Jet 81 IR B § 5 T@ #1 q5hes e
(Sample) f@r 5@, @ IEH 1 I & JYel BN B A¥HAT AT ST 2

A box contains 100 bulbs out of which 10 are defective. In a random sample of
S bulbs taken from the box, find the probability of having 1 defective bulb.

gUg - §

SECTION - B

7. @Rl F=(i+2j+k)+Mi-j+k) AR F=2i - j-k+pQi+j+2k) B oG B FAH
30 Fd Hife 4

Find the shortest distance between the lines 7 =(i +2j+k)+A(i - j+ k) and

F=20—j—k+pQi+j+2k).

8. T 7 ¥ 2 AW AR 5 ke e & elh g A9 H 4 W AR 3 qHe e 1 Th A

A AR I 4 T & el ol 81 AR 98 e A 8, 9 96 e 99 & &N
% WRhaT A BT 4

Bag Ist contains 2 red and 5 white balls. Bag IInd contains 4 red and 3 white
balls. A bag is chosen at random and a ball is drawn from it. If the ball drawn

is red, find the probability that this ball is drawn from Ist bag.

5631/(Set : C)/ | P.T.O.
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9. {579 ofdd & ®H f(x)=2x° —3x2 -36x+7 Ya¥ 49 (Strictly increasing) ¥,
CERC RN IR L 4

Find the interval in which the function f (x)=2x3 —3x% -36x+7 is strictly

increasing.

10. g x2 +y? =a? % §%d TG HOW 4

2 2

Find the area enclosed by the circle x“ + y2 =a“.

gl -

SECTION-C

11 w&haﬁﬁqaﬁwA:ﬁ ﬂ THHET A% -4A+1=0 TR I, 2 x 2 He B

T e & AR O, 2 x 2 HC H T I AGE & 0% Fedd 4 A~ 7 i)
6

2 3
Show that the matrix A = [1 2} satisfies the equation A%2 —4A+1=0 where I

is , 2 x 2 identity matrix and O is 2 X 2 zero matrix. Using this equation, find

AL
AT

OR

5631/(Set : C)/ |



(7) 5631/(Set : C)
e FieRel &l e O | & &I ¢ 6

XxX-y+z=4;
2x+y-3z=0;
x+y+z=2
Solve the following equations by Matrix method :
XxX-y+z=4;
2x+y-3z=0;

xX+y+z=2

12. @0 : 2x+y>8, x+2y>10, x>0, y>0 & WG Z =5x+7y & FAGHBT
BNy 6

Minimize : Z = 5x+ 7y under the constraints :

2x+y=28,x+2y=>10,x20,y=>0.

3TeE

OR

5631/(Set : C)/ | P.T.0O.



(8)
frfiied S/aEl & ST Z = 3x + 2y &l STIBAHIBT BN
2x+4y <20,
3x+y <15,

x,y=20

Maximize : Z = 3x + 2y subject to the constraints :
2x+4y <20,
3x+y <15,

x,y=20

5631/(Set : C)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5631
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Roll No. SET : C
N

MATHEMATICS
AT - 11
PART - II

(g %)
(Objective Questions)
ACADEMIC/OPEN
[ &= wd sfush A |
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(Only for Fresh/Re-appear Candidates)

o PV AT I T [ I % 37 FIT-09 § JRT § 16 T J97 40 &7
Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o TXETER STl T To FeT-UH YT a9 ford)
Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G (7397 -
General Instructions :

() @ geT et &

All questions are compulsory.
(i) 797 FTHE 1 7 40 7% FGTT Fo7 &1 FAH T 1 5% F &

Questions from 1 to 40 are objective type questions. Each question is of 1
mark.
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(2) 5631/(Set :
1. §=+g RS qrcias deell R IRANT & &1 R = {(a, b), a< b}, 98 ® :

(A) T (B) @HfE
(C) HebTHH (D) T & g T
The relation R defined real numbers R, R = {(a, b), a< b} is :
(A) Reflexive (B) Symmetric
(C) Transitive (D) None of these
2. IR’ f: R— R, fi) = 3x ¥ UG 8, af 7= & & &l g :
(A) f THH AN TBRE (B) f Sga@ oM oTeTE®
(C) f Tl W ABEH el (D) f TEU@H W SABEH Tef
Let fix) = 3x where f: R — R, choose the correct answer :

(A) f is one-one onto (B) f is many one-onto

(C) f is one-one into (D) f is many one-into

3. tan—l(—ij P & 9 B

J3
T T
(A) 5 (B) B
T T
(€C) 3 (D) -3

5631/(Set : C)/ Il



(3) 5631/(Set : C)

The principal value of tan_l(— %j is :
(A) % (B) —%
© 3 D) -3
4 sinlx HFITHAAR : 1
(A) —gg} B) [0,
(©) o g} (D) (0, )

The principal value of sin"!x is:

n oz
) _—5,5} ®) [0, 7]
©) og} D) (0,7
5. fEoTmar @fkar « St ZW IR & IR a*b=a-bEA WA &, W ® : 1
(A)  HHENET
(B) ded

(C) wufatmAg X dead
(D) ¥ sHHfaET T Al

5631/(Set : C)/ I P.T.O.



(4) 5631/(Set : C)
Binary relation * define on Z and given by a* b =a—- bis:
(A) Commutative
(B) Associative
(C) Both Commutative & Associative

(D) Neither Commutative nor Associative

6. 3 x3FHC & AHE B HA G Pl Tafe &aq 0d 18, 9 & ¢ 1
(A) S12 (B) 18
(C) 64 (D) & & #E Te
The number of matrices of order 3 x 3 that can be formed by using the digit O
orlis:
(A) S12 (B) 18
(C) o4 (D) None of these

7. IR’ A AR B U NS B, A 7 H | -9 TGS GG © 7 1
(A) (AB)=AB’ (B) (AB)=AB
(C) (AB) =BA (D) TTH ® iz Tl
If A and B are two symmetric matrices, then which of the following is always
true?
(A) (AB)Y=A'B’ (B) (AB)=AB
(C) (AB)=BA (D) None of these

5631/(Set : C)/ Il



(5) 5631/(Set : C)
8. IR fagatt (-2, 0), (0, 4) R (k, 0) Th 4 &l a1t BIYSA & MY &, A kB AT & 1

A) 2

(B) 4

(C) 0T -4

(D) & § PI§ T

If area of triangle with vertices (-2, 0), (0, 4) and (k, O) is 4 units, then the

value of k are :

A) 2
(B) 4
(C) Oor -4

(D) None of these

kx+1 , x<5

,x=5T dad g, : 1
3x-5 , x>5 x T

9. k3 N9 qM & T ®e f(x):{

A) 3 (B) -5
9 11
(C) = (D) =

5631/(Set : C)/ I P.T.O.



(6) 5631/(Set : C)

. . kx+1 , x<5 |, .
The value of k for which the function f(x)= is continuous at
3x-5 , x>5
x=351is:
(A) 3 (B) -5
9 11

C) = D) —

© < D) =
10. 7R} f(x)=cos(logx+eX), @ f(x) ¥ : 1

(A) -sin(log x+e”)

(1 &
(B) —s1n(—+e j
x

(C) -sin(log x +e%) (% + exj

(D) FH & & Tl

If f(x)=cos(logx+e”), then f'(x) is:

(A) —sin(log x +e”)
B) - sin(l + exj
X

(C) —sin(logx+ex)(l+exj
x
(D) None of these

5631/(Set : C)/ Il



(7) 5631/(Set : C)
11. o gq & B 0.7 m/sec § Tl ¢ qf I URMY & do Hl T §HvS & o9 Brewr

2 cm %, TR 1
(A) 1.4 mcm/sec (B) 2 mcm/sec
(C) 2.8 mcm/sec (D) T q B Tl

The radius of circle changes at the rate 0.7 m/sec. Then the rate of change of

perimeter of circle per second at r= 2 is :

(A) 1.4 mcm/sec (B) 2 mcm/sec
.8 T cm/sec one of these
(C) 2.8 / (D) N f th
-1
12. (180 X4 quee d 1
1+ x
(A) ﬁ +c (B) %(ta\n_1 x)2 +c
b
(C) (tan"'x)?+c (D) TTH | Hiz Tl
-1
J-tan 2x dx is equal to :
1+ x
(A) ﬁ +C (B) %(tan_l )C)2 +C
X
(©) (tem_1 x)2 +c (D) None of these

5631/(Set : C)/ I P.T.O.



(8) 5631/(Set : C)

13. jxcosxdx T B 1
(A) xsin x+ cos x+c
(B) xsinx-cosx+c
(©) X sinx+c
2

(D) —xsinx—-cosx+c
J.xcosxdx is equal to :
(A) xsin x+ cos x+c

(B) xsinx-cosx+c

(@) X sinx+e
2

(D) —xsinx—-cosx+c
14. g% y=x2, x-378 & x =2 R R &7 & §%a 2 ¢ 1
8
A) 4 (B) 3
2
€ 2 (D) 3

5631/(Set : C)/ Il



(9) 5631/(Set : C)

The area of the region bounded by y = x2, x-axis and x = 2 is :

8
A) 4 (B) 3
2
€ 2 (D) 3
a%y)  .d
15. ofaeha THH 2x2(—gJ +3H yy=0 Hum & : 1
dx dx
A) 2 (B) 3
(©) 5 (D) & ¥ g T
. . . Q[de} dy .
The degree of the differential equation 2x — | * 3—~=+y=0 is:
dx dx
A 2 B) 3
) 5 (D) None of these
16. IR} P(E)= 0.3, PF) = 0.6, X PEN F)=0.2, @ P(E/F) ® : 1
1 2
A = (B) 3
1 7
(©) 3 (D) 10

5631/(Set : C)/ I P.T.O.



(10) 5631/(Set : C)

If PE)=0.3, PIF) = 0.6 and PIENn F) = 0.2, then P(E/F) is :

1 2

A) - (B) 3

1 7

(C) 3 (D) T
17. A o I b A L GRA T, & 7T § q P9-1 639 qFE ? 1

A) a+b T THE GRY D

B) aXb U THE GRY D

(C) |dXb| d, b Yonal ari Byl 1 St

D) |aXDb | Pl @ R b o GHieR =qeer H1 S

If Z and E) are unit vectors, then which of the following is always true ?

e .
(A) a+ b isaunit vector

—> ., . .
(B) a X b is a unit vector
(o) axb |is area of triangle with sides a and b

D) | aXb | is area of parallelogram with sides a and b

5631/(Set : C)/ Il



(11) 5631/(Set : C)
18. TH WM x, y 3R z-9& & HAM: 90°, 135° 3R 45° & FIT G 2, A 3T 3@ & f

HIEE ¢ 1
(D) T & Hig T

If a line makes angle 90°, 135° and 45° with x, y and z-axis, its direction

cosines are :

1 1
® en
1 1
B 055
1 1
© -5 5

(D) None of these

5631/(Set : C)/ I P.T.O.



(12) 5631/(Set : C)

19. tan_11+cos_1(—%j T B 1
T 7T
A —— B =
(A) 12 (B) 12
11x 51
C) — D) —
(C) 12 (D) 12

tan' 1+ cos_l(— %) is equal to :

T 7T
(A) 12 (B) 12
11x 51
(©) ED) (D) 12
20. ot =sec o, ) 1
\/x2—1
21. A1 % f: R— R, f(x)=x" 30 o &, @ f @ : 1
(A) ThH AR WS (B) @& T B8RS el
(C) TgUH IR SABEH (D) SR W ABIEH Tl

Let f: R— Rdefined by f(x):x4, then fis :

(A) one-one onto (B) one-one into

(C) many-one onto (D) many-one into

5631/(Set : C)/ Il



22.

23.

24.

25.

26.

27.

28.

(13) 5631/(Set : C)
I A T T e 3 Fiic F & AR ITH RO |A| =4, @ |AG Al = ooeeennn |1

If Ais square matrix of order 3 with |A| =4, then |Adj A| = «cvvvennnnn.

(AB) l=........ 1
R y=x*, Yo 1
If y=x", then WY
dx
- s . dy
23@')6—20039—00326,y—251n6—sm29,5ﬁ — = .. | 1
_ A . dy
If x =2 cos 6 — cos 20, y =2sin 0 — sin 20, then T
[ dx = 1
1+cosx
[ 1
(x+1)(x+2)

TH STl A UGl B 4 G BN AT &1 G G SR FfEw BT (VAN HE o) o
HEE &, A 2 Bl Bl SEH & ......... | 1

A pair of fair dice is thrown 4 times. Getting a doublet is a success. The

probability of getting 2 success is ............... .

5631/(Set : C)/ I P.T.O.



(14) 5631/(Set :

29. UH @Y § o g BN &l 9 [ty

Write the condition for a relation to be an equivalence relation.

30. 3R WA «, N W axb=a’+b* & &I F UG &, F& I G
(A) |Eed T HEEE
(B) AT AT dresd el
(C) s i HAlaHE el
(D) "=l T FHeEg

If operation » on N defined as a« b = a’? +b? , choose the correct answer :

(A) Associative and Commutative
(B) Commutative but not Associative
(C) Associative but not Commutative

(D) Neither Associative nor Commutative

x 6

6 -3
31. = , W x F AW R :
8 2x 8 4
(A) 6 B) 2
(C) O (D) T @ Fig T
6| |6 -3
If x = , then the value of x is :
8 2x 8 4
(A) 6 (B) 2
C) O (D) None of these

5631/(Set : C)/ Il



(15) 5631/(Set : C)

32. 7R x%+3xy+y% =100, & Y = Fifm 1
If x3+3xy+y> =100, find == .
dx

33. T y=(x-2)° W Te g 7 FIfT, &7 wRar -1 F ol 2 1

Find the point on the curve y =(x— 2)2 , where tangent is parallel to x-axis.

34. 99 G FivT - ’
/2
J'sin3 x dx
-m/2
Evaluate :
/2
J.sm3 x dx
-n/2
35. HM Fq FivT - ’
1
f dx
0 1-x2
Evaluate :
1
f dx
0 1-x2

5631/(Set : C)/ I P.T.O.



36.

37.

38.

39.

40.

(16) 5631/(Set : C)

FWh y=sin x, 3, x=0, x=7 9 R A FH &G A B

Find the area bounded by the curve y = sin x, x-axis and the line x =0, x =m.

2
GWWW@:H—yQ & AYEH B 5T DI
dx 1+x

dy _1+y*

Find the general solution of the differential equation 5

1+x

A 3R B3R @ e €, o g6 3 91 © 7

What is the condition that events A and B are independent ?

HRA @ =3i - j-2k N GRA b =2i 3] +k T Y& A HivTT
. . . — T A ~ - < 4 o
Find the projection of a =3i — j—2k on the vector b =2i -3j+k.
- -
M |a=V3,|bE2 AR d.6=3, @ d X b & <" & Ho7 51 BT

- -
If|al= V3, | b|=2 and a.b= 3, then find angle between a and b.
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Roll No. SET : D

T GRAPH
MATHEMATICS
AT -1
PART -1
(st Te)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 2L q92 ] [ T% : 80 (WM-1 : 40, WF-1I : 40)
Time allowed : 2% hours | [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

gE-U A WA | faeia B : A (STetes) O AR (FRgRTe)| e @ aN An @ g
% I B AT IAC-YRaw R 31 AE-U F CAF-I IO S BN W ed SaX-gRas
CS 1R e 0 0 A £ R e O s s A L R R | e B
A 0% goT @ qhemt B qE-11 S 9eA-0 Rar s

-1 & 997-0F & 0 12 97 @ 9FHI & 999-T § F 40 U7 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 12 and of Part-II are 40.

o P I F T B G 5 59799 § GRa g 8 oy 77 12 8

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 12 questions.
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(2) 5631/(Set : D)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g 4 arar w&hwe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

() STTTH T2 7978 T r diTasi o govgdare me:
G 9 3G H 1T 6 TH G & FT 81 JA% J97 2 G # 81
% q: G HT §10 T F7 G 597 81 J9% Fo7 4 SH # 8
g% 9 39 &% §11 §7 12 F7 § 597 &1 9% 597 6 o FT &

(i) @ g97 St &
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(3) 5631/(Set : D)
(iii) @7 G’ % & Fo7 § ak® [Awey {9 T 8, F7H @ % & F97 B gT 81

(iv) 179 T % 99T &l 791 Fe-rkrer % GrT Haeq el 11
(v) %997 9T 791 TEGiernl # B AT [E)

(vi) PERICT & T B SI7AT TE &l

General Instructions :

(i) This question paper consists of 12 questions which are divided into three

Sections : A, Band C :

Section ‘A': This Section consists of six questions from 1 to 6. Each question

carries 2 marks.

Section B': This Section consists of four questions from 7 to 10. Each question

carries 4 marks.

Section 'C': This Section consists of two questions 11 & 12. Each question

carries 6 marks.
(ii) All questions are compulsory.

(iit) Section 'C' contains both questions where internal choice have been provided.

Choose one of them.

(iv) You must attach the given graph-paper along with your answer-book.
(v) You must write your Answer-book Serial No. on the graph-paper.

(vi) Use of Calculator is not permitted.

5631/(Set : D)/ | P.T.O.



(4) 5631/(Set : D)
gug —

SECTION - A

1. A% 50 A9 & o 9909 2x+y-22=7 R 3x-Ay+2z=4 THIW & @ ol 2

For what value of A the planes 2x+y-2z=7 and 3x-Ay+2z=4 are

perpendicular to each other.

2. TRA @ B b W WY (projection) HT FINT, &l a=i-2j+3k AR b=3i-2j+k. 2

Find the projection of vector @ on b, where d =1 — 2j+3k and b=3i -2 +k.

3. wp fed § 100 59 B O 10 59 Jeqel 81 IR B § 5 5@ o1 qghes ey
(Sample) form ST, @ IEH 1 g9 & JRYC! BN H TR G BT 2

A box contains 100 bulbs out of which 10 are defective. In a random sample of

S bulbs taken from the box, find the probability of having 1 defective bulb.

4. WW%:ytanxaﬁwaﬁmqﬁFo,wu 2

Solve the differential equation : il—‘li =ytanx if x=0, y=1.

2
5. 3 y=2e*+3e2*, T W %—6%+8y=0| 2

2
If y = 2e™* + 32", then show that d—g—6ﬂ+8y =0.
dx dx

5631/(Set : D)/ |



(5) 5631/(Set : D)

1
6. T y=x" x, @A % A HIfTT 2

-1
If y=x%" x, then find .
dx

gE - §

SECTION - B

7. g9 x?+y? =a? T WAEA TG BT 4

2 2

Find the area enclosed by the circle x + y2 =a”.

8. WA 7F=({+2j+k)+Ai—j+k) AR F=2i—j—k+pQi+j+2k) & &= B FAH
RIS B 4

Find the shortest distance between the lines 7 =(i +2j+k)+A(i - j+ k) and

F=20—j—k+pQ2i+j+2k).

9. TH q7 H 2 AW AR 5 §he e ¢ b W A9 H 4 AW R 3 HHe e 2 Th A
AgeBd] AT SEH § & g el Sl 81 A 98 T8 A 5, f I6d Jed 99 9 8
% TRRaT A BT 4

Bag Ist contains 2 red and 5 white balls. Bag IInd contains 4 red and 3 white
balls. A bag is chosen at random and a ball is drawn from it. If the ball drawn

is red, find the probability that this ball is drawn from Ist bag.

5631/(Set : D)/ | P.T.0O.



(6) 5631/(Set : D)

10. 79 fqUd & ®M  f(x) = 2x° - 3x% —36x + 7 AT g9 (Strictly increasing) ¥,
CERC RN IR L 4

Find the interval in which the function f(x)=2x°-3x% -36x+7 is strictly

increasing.
Qs - 9
SECTION-C
11. fifiad el B oere R @ & R : 6
xX-y+z=4;
2x+y-3z=0;

x+y+z=2

Solve the following equations by Matrix method :

X-y+z=4,

2x+y-3z=0;

xX+y+z=2

5631/(Set : D)/ |



(7) 5631/(Set : D)
e

OR

w&haﬁﬁmﬁwA{f ﬂ THHET A2 -4A+1=0 TR, 2 x 2 He B

TETH e & AR O, 2 x 2 HC H T I AHE & 306 ToFd 4 A~ 7d i)
6

2 3
Show that the matrix A = [1 2} satisfies the equation A2 —4A+1=0 where I

is , 2 x 2 identity matrix and O is 2 x 2 zero matrix. Using this equation, find

AL

12. 3EQH : 2x+y>8, x+2y 210, x>0,y >0 & I Z=5x+7y & FATHHT
FITT| 6

Minimize : Z = 5x+ 7y under the constraints :

2x+y=28,x+2y=210,x20,y=0.

YqT

OR

5631/(Set : D)/ | P.T.O.



(8)
frfiied S/aEl & ST Z = 3x + 2y & SABAHIBT BN
2x+4y <20,
3x+y <15,

x,y=20

Maximize : Z = 3x + 2y subject to the constraints :
2x+4y <20,
3x+y <15,

x,y=20

5631/(Set : D)/ |
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N
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o U AT BT 5 G F 3T FIT-07 § JRT g 16 T F97 40 &
Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o R STy R To JeT-gH T e ford
Candidates must write their Roll Number on the question paper.

o U g7 # FAT 37 § [@ TE GARGT F T & J97-99 {7 T @& & GO B ITT 59
T § 2l A qar & T8 B AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @ geT sfard &

All questions are compulsory.
(i) H97 FE 1 @ 40 TF JEGTO J97 &1 TA9% F97 1 5% T &1

Questions from 1 to 40 are objective type questions. Each question is of 1
mark.
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(2) 5631/(Set : D)

1. 3R g R Z W IR9MT B X R = {(x, y) : x— y is an integer} &N AT T §,
qE T ]

(A) 9 EGH

(B) e EHMEC

(C) aad Hhh

(D) |l e, THAT TaY Hhh

Relation R is defined on Z given by R = {(x, y) : x— y is an integer} is :
(A) Reflexive only

(B) Symmetric only

(C) Transitive only

(D) All of the three Reflexive, Symmetric & Transitive

2. cos_lxaﬁfﬂ'@qrﬂ:{%I 1
T T
) {—5, 5} ®) [0,
(C) [0, 2] (D) 99 | *§ Tl

5631/(Set : D)/ 1l



(3) 5631/(Set : D)

The principal value of cos 1 x is :

(B) [0, 7]

(€) [0, 2x]

(D) None of these

3. sin‘{%} H I 99 © 1
® -~
B -3
© 3
D) £
5631/(Set : D)/ I P.T.O.
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(4) 5631/(Set : D)

(A) s
T
(B) ~3
T
(€) 3
T
(D) A
4. sin (g—sin_l %) H I B : 1
1 1
(A) 5 (B) 3
© o o
sin (g —sin™ %) is equal to :
1 1
(A) 5 (B) 3
1
€ O (D) 3

5631/(Set : D)/ 1l
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(5) 5631/(Set : D)
5. fEomeaTd Rt « S a* b= ab X AT T & &R z W IRANG &, T8 © 1
(A) e BT
(B) @ad HEwd
(C) wAfEaFET R we=d aFi
(D) I Tt

Binary relation * given by a * b = ab defined on z, is :
(A) Commutative only
(B) Associative only

(C) Both Commutative & Associative

(D) None
6. 2x4% Flic & A B Ha deAT [ Ui dag 0 a1 1 8, @ ° ¢ 1
(a) 27
B) 16
(©) 81
(D) 256

The number of all possible matrices of order 2 x 4 with each entry O or 1 is :

A) 27
B) 16
(C) 81
(D) 256

5631/(Set : D)/ I P.T.O.



(6) 5631/(Set : D)

7. IR A R B A TN FIT & A &, A M F § H-G1 @ w9 4 v i
(Skew Symmetric) 3Tgg g7 1

(A) A-A'
B) A+A
(C) AB
(D) AB'

If A and B are two square matrices of same order, then which of the following

is a skew symmetric matrix necessarily ?

A) A-A'
B) A+A'
(C) AB
(D) AB'

8. 3R fagaw A(1, 3), B(0, 0) AR C(k, 0) H FE™ & 3 THE &% & BIYST S &, O

k % 99 8 1
a) 4

B) +2

(©) 0,4

(D) & @ &S T

5631/(Set : D)/ 1l



(7) 5631/(Set : D)
The value of k for which the triangle formed by joining A(1, 3), B(0, 0) and

C(k, O) form a triangle of area 3 units is :

(A) 4
(B) +2
(C) 0,4

(D) None of these

X% =25
9. IR B f0=1 y_s5  “7° x=5 W G B B, O k H AN E 1
k , x=5
(A) 0 (B) 5
(©) 10 (D) ™ | ®iE T

2
x~ =25
If f(x) :{ =5~ x#5 is continuous at x = 5, then the value of k is :

k x=5
(A) 0 (B) 5
(C) 10 (D) None of these
10. IR flx = sec (tan ), A f(x) H T 2 : 1

(A) sec (sec? 2x)
(B) sec (tan x?) tan (tan x°)
(C) sec (tan x°) tan (tan x°) . sec? (X9

(D) sec (tan x?) tan (tan x%) sec? (x?) . 2x

5631/(Set : D)/ I P.T.O.



(8) 5631/(Set :
If flx) = sec (tan x°), then f(x) is :

(A) sec (sec? 2x)
(B) sec (tan x?) tan (tan x°)
(C) sec (tan xP) tan (tan x%) . sec? (&)

(D) sec (tan x°) tan (tan x%) sec? (X°) . 2x
11. x=4WaTh y=3x" —4x H WNG F A 8 :
(A) 768 (B) 764
(C) 772 (D) 770
The slope of tangent to the curve y = 3x*—4x atx=4is:
(A) 768 (B) 764

(C) 772 (D) 770

2
12. 152 % ax seR #

cosec?x
A _tanx B) tanx-x+c¢
(A)
cot x

2

x+c (D) 9 § Hi3 T

(C) 2 tan xsec

2
.[ see ;C dx is equal to :
cosec”x
(A) _tanx+c B) tanx-x+c
cot x
(C) 2tan xsec’ x+ ¢ (D) None of these

5631/(Set : D)/ 1l



(9) 5631/(Set : D)

13. jzxexgdxasr 9 B - 1
2
A) x2e* +c B) x%e* +c
(C) e te (D) = ¥ Hig 7Tl

@) x2e o B) x2e?*+c
© e e (D) None of these
14. g% y? = x R WM x = 1, TR JoF =geaier & B &= &1 8o @ 1
(A) % B) 1
© 3 o

The area of region bounded by y* = x and the line x = 1, in 1st quadrant is :

(A) (B) 1

WIN

(€) (D)

wlp
W]
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(10) 5631/(Set : D)

a’y @f _ :
15. aqawwwdx2+(dx +y=0 % 99 8 : 1
A) 3 (B) 2
(€) 1 (D) GR¥T &
d’y (dy)\’
The degree of the differential equation —g + (—yj +y=0 is:
dx?  \dx
A) 3 (B) 2
) 1 (D) Not defined
16. I} P(A) = 0.8, P(B) = 0.5 X PAn B)=0.32, @ PB/A) & 9N ® : 1
(A) 0.4 (B) 0.64
© 3 D) T & e

If P(A) = 0.8, P(B) = 0.5 and P{A N B) = 0.32, then P(B/A4) is :

(A) 0.4 (B) 0.64

(€)

| U1

(D) None of these

17. 3 A IR B A ORI E @ A x B U%h GRY 8 o TFad & : 1
(A) 3 A X B & (B) @A A &
(C) @dad B & (D) el & &

5631/(Set : D)/ 1l



(11) 5631/(Set : D)

If A and B be two vectors, then A x B is a vector perpendicular to :
(A) Both A and B (B) A only

(C) B only (D) None

18. Rrgaft (2, 3, -4) A (-1, 1, 2) & @™ ami J@mel & g FEET (Direction Cosine)

g ]
(A) 3,2,-6 (B) -3,-2,6

-3 -2 6 "
© — =7 (D) T & B T

Direction cosines of the line joining the points (2, 3, -4) and (-1, 1, 2) are :

A) 3,2,-6 (B) -3,-2,6
(€) _—73,_—7272 (D) None of these

19. tan !y/3 -sec™}(-2) TR ' : 1
A) = ®) -7
©) g (D) %

(A) = (B) —g
T 21
(C) 3 (D) 3

5631/(Set : D)/ I P.T.O.



(12) 5631/(Set : D)

20. sin_l(%j H g 1 © 1
T T
(A) 3 (B) 2
T T
(C) P (D) >

The principal value of sin_l(%j is :

(A) (B)

NI

i
3

(€) (D)

N

T
6

21. A FC % == N & R={(a, b): a=b -2, b > 6} X T&d 69 R &, firaq

4 H g8 I g ’
A) (2,4€eR B) (3,8 € R
(C) (6,8 € R (D) (8,7) € R

Let R be the relation in the set N given by R= {(a, b) : a= b - 2, b > 6}. Choose

the correct answer :

(A) (2,4)e R B) (3,8 ¢ R
(C) (6,8) e R (D) (8,7) e R
22. A (AdjA) = (coen.... )1 1

5631/(Set : D)/ 1l



25.

26.

27.

28.

(13) 5631/(Set : D)

3 x 4 2 . ’
= XS e,
x 1 -1 -2
2
¢ y = cos™! 1-x ﬁﬂ: ................ 1
1+ x? dx

P — (X d2
IR y=3e"+2e™, T L = (i, Wy 1
7 7 d’y
Ify=Sex+2e’x,thenW:( ............. )y
[sin 4x cos 2x. dx = (ceoeinnnn. ) + ¢ 1
[e" (sin x + cos ) dx = (coeueninn. )+ ¢ 1

A@TBWWWﬁWWﬁWW%%@T%%IQﬁﬁW
Y § G &0 HY, A I &0 8N Bl TREAT B e | 1

Probability of solving a problem independently by A and B are % and %

respectively. If both try the problem independently, then the probability that

problem is solved is .............. .

5631/(Set : D)/ I P.T.O.



(14) 5631/(Set : D)

29. UF g % o g BN H Ad i 1
Write the condition that a relation is equivalence relation.
30. cos_l(lj+231n_l(1j R T - 1
2 2
T 2n
A — B) —
(A) 3 (B) 3
T 3n
C) = D) —
(C) 2 (D) 2
_1( 1 j . _1( 1 j .
cos | = |+2sin | = | isequal to:
2 2
T 2n
A) — B) —
(A) 3 (B) B
T 3n
C) = D) —
(C) P (D) 2
3x 5 |2 O
31. R = , @ x ® AE B 1
1 x -1 2
2
(A) 3 (B) 2
(C) ++3 (D) O
3x 5 |2 O
If x =‘ , then the value of xis :
1 x |-1
2
(A) 3 (B) 2
(C) *+3 (D) 0

5631/(Set : D)/ 1l



(15) 5631/(Set : D)

32. qﬁxz—Qxy+y2=200,Eﬁil—di§|ﬁzﬁm| 1

If X% - 2xy + y* = 200, then find il_al)yc

33. I FEH BRE f(x) = 2x2 — 3x FRAX 999 ® - 1
w2 o (3
() (—%, ooj (D) 99 | FE Tl

The interval in which function f(x)= 2x2 - 3x strictly increasing is :

(€) (—%, “j (D) None of these
34. j(’;cos?’xdx P A FT BT 1

Evaluate .[(7; cos3x dx.

1
35. | 2X _ gy @ 9 S R 1
O1+x2
Evaluate J.l 2x 5 dx.
014x
86. TF y=-cosx, x=0¥ x=ndH H F6KA A HioM 1

Find the area bounded by the curve y = cos x between x= 0 to x = 7.
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37.

38.

39.

40.

(16) 5631/(Set : D)

WW%:ytanx N AUE & ST BT 1

Find general solution of the equation % =ytanx.

I A R B & @aw "o & Sed P(A) = p, @R P(B) = p,, @ PA'B') 5 #ivT 1

If A and B are independent events such that P(A) = p, and P(B) = p,, then
find PA'B').

TR { +3]+ 7k H AR 7i — j+8k W Y&Y T HifTT 1

Find the projection of vector i + 3} +7k on the vector 7i — j +8k.

sl @ X b B IRAT HAM V3 AR 2T A d.b =6, @ a X b & s &
BT FA BT ]

Find the angle between two vectors @ and b with magnitudes J3 and 2

respectively having a. b =6.
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